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Math 2366, Quiz #2, Summer 2014 Name ‘_K‘g Y

Instructions: Show all mifork. Justify answers as completely as possible. If you are asked to prove

something, mere computation is not enough. You must explain your reasoning. Be sure to state your

conclusion clearly. Incu!mplete work or justification will not receive full credit. Use exact answers unless

specifically asked to round.
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1. For the argument below, state +e premises, the conclusion and any rules of inference used at
each step. 3

Someoqe in this class en"oys whale watching. Every herson who enjoys whale watching

cares afipout ocean po/luz;ion. Therefore, there is a person in this class who cares about
ocean pollution. !
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2. Determine if the following argum entisvalid. If it is, explain the rules of inference used. If it is
find, find the err:or and the correct conclusion.

If nis a real number with n>2, then n? > 4. Suppose thatn < 2. Thenn? < 4.
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3. Prove that if mn is even, then either m is even or 1 is even. Assume that mn, m, n are all
integers. | ’
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4. Prove that there are no positive integers such that n? + n3 = 100.
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5. Prove that 3/2 is irrational. [Hint: the proof is similar to the one for showing that the v2 is

irrational.]
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